
4.OA Comparing Growth,
Variation 1

Task

There are two snakes at the zoo, Jewel and Clyde. Jewel was six feet and Clyde was
eight feet. A year later Jewel was eight feet and Clyde was 10 feet. Which one grew
more?

4.OA Comparing Growth, Variation 1 
Typeset May 4, 2016 at 22:05:44. Licensed by Illustrative Mathematics under a 
Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License .

1

Illustrative 
Mathematics

http://creativecommons.org/licenses/by-nc-sa/4.0/
https://www.illustrativemathematics.org/content-standards/tasks/356
https://www.illustrativemathematics.org/
http://creativecommons.org/licenses/by-nc-sa/4.0/deed.en_US

	4.OA Comparing Growth, Variation 1
	Task


